SAP ABAP table AXTS RUNTIME UNIT TEST PLACE {Place handler unit test structure}

AXT CT CHARC_UNB

AXTS RUNTIME UNIT TEST PLACE-CHAR TEXTTAB UNB = AXT CT CHARC UNB-CODE N CLIENT [CLNT (3)]

L " | CODE [CHAR (20)]

- AXT_CT_CHAR_UNB
0 N AXTS RUNTIME UNIT TEST PLACE-CHAR CHECKTAB UNB = AXT CT CHAR UNB-CODE N |CLLENT [CLNT (3)]

———————————————————————————————————————— " | CODE [CHAR (20)]

___________________________________ AXT _RUT_CT CHAR
0-N . AXTS RUNTIME_UNIT TEST PLACE-CHAR TEXTTAB = AXT RUT CT CHARC-CODE  0..N [CLIENT [CLNT (3)]
el CODE [CHAR (20)]

-~

——————————————— AXT _RUT _CT_CHARC
—————— (—)-N M[CLNT (3)]
CODE [CHAR (20)]




